20238 =& 2 2

2A:
X ZH -
(e

Sl

A & 0l & AFE B Al A

LEES|H SXIXI2 1%

SXIXI& Dt
HH2EZHI(SXIXIEM)
J1=3H|

2A - B C9(3) - MPAY - BES Ofl o I3 o GImE==l
SXIXIE 98,695,506 96,093,849 2,601,657
= 51,698,420 51,826,682 128,262
s 2,468,902 2,180,608 288,294
J| 1,145,873 1,139,363 6,510
£ 2,000,000 2,000,000 0
(o= 8,329,429 8,296,746 32,683
B 1,500,000 1,500,000 0
i 31,552,882 29, 150,450 2,402,432
2G| (=X ) 27,600 25,600 2,000
Jl2&| 27,600 25,600 2,000
J12&l 27,600 25,600 2,000
201 LAY 18,960 16,960 2,000
02 2=23| 4,000 2,000 2,000
OoRERI S 4,000,000 4,000 2,000 2,000
SXKE Jet= 23,400,682 23,089,423 311,259
= 8,653,763 8,480,114 173,649
£ 2,000,000 2,000,000 0
(o= 2,863,499 2,820,834 42,665
B 1,500,000 1,500,000 0
i 8,383,420 8,288,475 94,945
HOHCIAI E2 S KA 5,502,469 5,408,011 94,458
= 3,606,735 3,584,735 22,000
== 568,236 545,184 23,052
i 1,327,498 1,278,092 49,406
ZOHCIZSKIA JHok==E 107,669 76,240 31,429
= 75,368 53,368 22,000
(o= 9,691 6,862 2,829
i 22,610 16,010 6,600
308 XXM SOIH 107,669 76,240 31,429
= 75,368 53,368 22,000
(o= 9,691 6,862 2,829
o 22,610 16,010 6,600
11 S 2SOHEHE A X 2/EFAIE ] 107,669 76,240 31,429
OFOCIESKIA Jrht=g
107,669,000 107,669 76,240 31,429
= 75,368 53,368 22,000
(o= 9,691 6,862 2,829
o 22,610 16,010 6,600
SSEOC =R0KIA 180,120 112,711 67,409
== 54,036 33,813 20,223
i 126,084 78,898 47,186
308 KtXISHMS0I& 180, 120 12,711 67,409
== 54,036 33,813 20,223
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2A:

F M

S XX
SXX JIgR=

ohelr ZOHRIAIS| 2 S KIRA (crol: 221
SA - BB SR(E) - HRAY - BES Ofl kot J| & o Hnz2
i 126,084 78,898 47,186
11 BI1 2SS B A ELAEAIS Y] 180,120 112,711 67,409
OsZEM =<0l K&
180, 120,000 180, 120 112,711 67,409
< 54,036 33,813 20,223
i 126,084 78,898 47,186
ZOHQI A K& 99,870 104,250 A4,380
301 EtEEZ 11,070 15,450 A4,380
11 EALHIXIRAZ 11,070 15,450 A4,380
SO MEZ XS] BE=s02ItHE
770,000 770 1,400 AB30
OXMEOH S MEZ X2 Hofelg=sE
SAIBHAL Zhd 0 0 1,750 21,750
OXNMEO S MEZ X2 HHofeDIsE
JItig & o 0 500 A500
OXHMZONIE3IMEZ XIS H=ZKIHIEOH
QI =S| & o 0 1,500 A1,500
OXMEM S METZX2 AS=2HEO0H
olIta=Z g &4 50,0002%309! 1,500 1,500 0
ZoHelHe B 20,280 21,400 A1,120
= 8% 1,792 1896
< 1,040 1,040 0
i 18,344 18,568 A224
ZOHel 2191 XA 1,120 2,240 A1,120
= 8% 1,792 896
i 224 448 AD224
301 Let2d= 1,120 2,240 A1,120
= 8% 1,792 A\896
i 224 448 N224
01 MBIBEE G2 (2 NEXTHR) 1,120 2,240 A1,120
OXOMREZXDD| WA
1,120,000 1,120 2,240 21,120
= 8% 1,792 1896
i 224 448 A224
ZOHRIS XA &K 14,342,012 14,124,091 217,921
= 2,908,623 2,756,078 152,545
S 2,000,000 2,000,000 0
< 1,897,021 1,877,408 19,613
BN 1,500,000 1,500,000 0
i 6,036,368 5,990,605 45,763
ZOHRIHFAIE 2GR 4,059,408 3,841,487 217,921
= 2,841,586 2,689,041 152,545
== 365,347 345,734 19,613
o 852,475 806,712 45,763
307 212t01& 4,059,408 3,841,487 217,921
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2A:
X{XH -
o /e

cH):

S XX
SXX JIgR=
ZOHRISXIAIE XA

2A - B C9(3) - MPAY - BES Ofl o I3 o GImE==l
= 2,841,586 2,689,041 152,545
< 365,347 345,734 19,613
i 852,475 806,712 45,763
10 AFRISXAEEHE2AHIEX 4,059,408 3,841,487 217,921
OHOMAH=AIE XA 4,059,408,000 4,059,408 3,841,487 217,921
= 2,841,586 2,689,041 152,545
< 365,347 345,734 19,613
i 852,475 806,712 45,763
Lol =X 8 61,277,3% 61,115,097 162,298
= 39,535,265 39,532,178 3,087
s 2,029,649 2,000,512 29,137
J| 139,924 135,674 4,250
== 3,356,351 3,356,517 A166
i 16,216,206 16,090,216 125,990
MOt QI K& 3,364,885 3,317,834 47,051
= 2,002,877 1,973,880 28,997
J| 139,924 135,674 4,250
== 313,544 317,170 A3,626
i 908,540 891,110 17,430
Lo EESMUIAAME XA 2,757,329 2,728,120 29,209
s 1,930, 130 1,909,684 20,446
== 248,159 245,530 2,629
i 579,040 572,906 6,134
307 212t01 & 2,757,329 2,728,120 29,209
= 1,930, 130 1,909,684 20,446
< 248,159 245,530 2,629
i 579,040 572,906 6,134
10 AFRISXIAIEEHE2AHIEX 2,757,329 2,728,120 29,209
OLolE=sMUIAME XA
2,757,329,0002 2,757,329 2,728,120 29,209
= 1,930, 130 1,909,684 20,446
< 248,159 245,530 2,629
i 579,040 572,906 6,134
LOINEESMUIA SALAL K& 40,800 81,600 40,800
307 212t01& 40,800 81,600 40,800
10 ALSIS XA EHE2IHIE X 40,800 81,600 40,800
OLQSEEE SAHA 8#Ss24Hl XIZ
50,0002 13601+6 40,800 81,600 240,800
LOINEESAMUIA SAR WS, S48l N Ar 57,120 0 57,120
< 11,424 0 11,424
i 45,696 0 45,696
307 212t01™ 57,120 0 57,120
< 11,424 0 11,424
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2A:
X{XH -
o /e

cH):

SXXAD
Lol =X EA

THOF= QUK 2

2A - HH . H(SH) - MRAIY - BES Ol ArH J &3 o Hws2
o 45,696 45,696
10 AISIS XA EHE2IHIEE 57,120 57,120
OL0IUBEEAMUIA SAL WE, SAlH|
A& At 70,000+ 13601+62 57,120 0 57,120
(o= 11,424 0 11,424
o 45,696 0 45,696
SENHLISTEMC! SSHELEMHIA 2SXA 145,494 128,392 17,102
s 72,747 64,196 8,551
(o= 36,374 32,098 4,276
i 36,373 32,098 4,275
307 EI2+0I& 145,494 128,392 17,102
s 72,747 64,196 8,551
(o= 36,374 32,098 4,276
i 36,373 32,098 4,275
10 AISIS XA EEHE2IHIE R 145,494 128,392 17,102
OSAHLL SZTHHC! SSHEAS MHIA
=29 K& 145,494,000 145,44 128,392 17,102
s 72,747 64,196 8,551
(o= 36,374 32,098 4,276
i 36,373 32,098 4,275
ICTHH IZXS SE=E=SAY 149,114 173,194 A24,080
J| 135,674 135,674 0
== 4,032 28,112 A24,080
o 9,408 9,408 0
401 AEHIZL O] 0 24,080 A24,080
== 0 24,080 224,080
01 AI&HI 0 24,080 24,080
OlotdlA &XI o 0 24,080 224,080
== 0 24,080 24,080
SHLSSEC SSerdLSMElA 23| 8,500 0 8,500
J| 4,250 0 4,250
(o= 2,125 0 2,125
o 2,125 0 2,125
307 I2+0I& 8,500 0 8,500
J| 4,250 0 4,250
(o= 2,125 0 2,125
o 2,125 0 2,125
10 AISIS XA EEHE2IHIEE 8,500 0 8,500
OSAHLLSZHEC! SIS MHIA
24| 8,500,000 8,500 0 8,500
J| 4,250 0 4,250
(o= 2,125 0 2,125
o 2,125 0 2,125
LOASEH2AS) 45,809,273 45,809, 153 120
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2AM:

.

el ASETAS} (CHR: X 2)
2A - FH . a(3) - A= Ofl Aot )3 o iImE=ST

= 39, 122,098 39,122,098 0

S 1,612,828 1,612,828 0

2 5,074,347 5,074,227 120

oIl o Al 5,008,469 5,098,349 120

= 2,545,075 2,545,075 0

= 763,522 763,522 0

2 1,789,872 1,789,752 120

101 Q124 226,715 226,451 264

= 109,966 109,894 72

= 32,991 32,969 22

= 83,758 83,588 170

03 22 (2IIH< 33,611 33,491 120

OJtE4g 110,0002* 122 1,320 1,200 120

04 JRIRI2ZNSE 4 193,104 192,960 144

Ow-QlauRtel EHOA TI=Y|

32,25021%640! 2,064 1,920 144

= 1,032 960 72

= 310 288 22

= 720 672 50

201 ZBr2g| 3,444 2,628 816

= 1,722 1,314 408

= 516 394 122

2 1,206 920 286

01 AlR2r2lH] 3,444 2,628 816

OF YA 2 3,44,0002 3,444 2,628 816

= 1,722 1,314 408

= 516 394 122

= 1,206 920 286

301 YR A 0 960 2960

= 0 480 480

= 0 144 A144

z 0 336 ~336

11 #ALAHIX 22 0 960 2960

Owolxte| & o 0 960 2960

= 0 480 2480

= 0 144 A144

z 0 336 ~336

LOI=RAIE X2 7,826,084 7,801,444 24,640

7 26,772 26,632 140

= 1,249,217 1,246,683 2,534

= 6,550,095 6,528, 129 21,966

Tt oI=R AL 2Y 3,056,926 3,032,566 24,360

= 305,693 308,257 2,436
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2A:
X{XH -
o /e

cH):

ST XD
Lol 27 =&

fui}

4
COISXIAIEXIR

SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o iImE=ST
i 2,751,233 2,729,309 21,924
301 Let2d= 3,056,926 3,032,566 24,360
< 305,693 303,257 2,436
i 2,751,233 2,729,309 21,924
02 MBI EEE2ES(HLHS, KNEWHA) 3,056,926 3,032,566 24,360
OIS X MHIA 1,140,719,000 1,140,719 1,116,359 24,360
< 114,072 111,636 2,436
o 1,026,647 1,004,723 21,924
12| CCTV X2 At 36,360 36,080 280
= 18,180 18,040 140
< 12,726 12,628 98
o 5,454 5,412 42
402 2IZ2EXHE01A 36,360 36,080 280
= 18,180 18,040 140
< 12,726 12,628 98
i 5,454 5,412 42
02 CIZEXHEAIH 2 (0| X THEA) 36,360 36,080 280
OL0IQAAIL 3,960,000 *x9IH A 35,640 31,680 3,960
= 17,820 15,840 1,980
< 12,474 11,088 1,386
i 5,346 4,752 594
OLRASSMEIE
720,000 %1 A 720 4,400 23,680
= 360 2,200 A1,840
< 252 1,540 A1,288
i 108 660 AB52
2Ezel 2,848,123 2,760,949 87,174
= 390, 167 387,080 3,087
< 179,450 178,524 926
i 2,278,506 2,195,345 83, 161
22E MIHE L IHE At 800,000 750,000 50,000
402 2IZ2EXHE0I1A 800,000 750,000 50,000
01 CIZEXHE A B2 (KEHITHE) 800,000 750,000 50,000
OZ2Y S & HESAY
800,000,000 800,000 750,000 50,000
a2 Aldze| 219,644 215,644 4,000
405 KHaEE S| 202,694 198,694 4,000
01 AR ESEFHSHI 202,694 198,694 4,000
Od2Y LAH0IZ2 ¥ oAt I
202,694,000 202,6%4 198,694 4,000
222G dtey] 2 k=] X2 780,334 774,160 6,174
= 390, 167 387,080 3,087
== 117,050 116,124 926
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2A: SXXA2 0

gz Lol =X &8

thel: dzEate] (Crol: X 21)
SN - T GRA(B) - NIRAY - BAS N ol o Rz
o 273,117 270,956 2,161
307 EI2+0I& 780,334 774,160 6,174
= 390, 167 387,080 3,087
== 117,050 116,124 926
i 273,117 270,956 2,161
10 ALSIZ XA EHE2IHIE X 780,334 774,160 6,174
OZ=2Y ditgid] Y 22|
780,334,000 780,334 774,160 6,174
= 390, 167 387,080 3,087
== 117,050 116,124 926
i 273,117 270,956 2,161
dz2g 29 X2 (XHA) 215,425 188,425 27,000
402 IZHXHE01H 152,300 125,300 27,000
01 CIZFRHE A B2 (KERITHE) 152,300 125,300 27,000
OZ2Y d&1) 23
1,800,00020%35JH A 63,000 36,000 27,000
SR 2SN 528,310 524,997 3,313
= 23,000 23,000 0
i 505,310 501,997 3,313
SotAldae| 29 124,250 120,937 3,313
405 XHAHE SH| 3,313 0 3,313
01 AR ESEFHSHI 3,313 0 3,313
O=¢gd ¢t F
3,313,000&=1CH 3,313 0 3,313
o 5X & 2,069,772 2,046,979 22,793
= 394,900 394,900 0
J| 681,041 679,621 1,420
== 239,110 237,348 1,762
i 754,721 735,110 19,611
AL HLIIEXIA 1,807,564 1,786,211 21,353
= 394,900 394,900 0
J| 588,917 587,497 1,420
(o= 192,696 188,666 4,030
o 631,051 615, 148 15,903
HESXIAE Xd & 29 14,910 13,910 1,000
201 LAY 5,310 4,310 1,000
01 At22telt| 5,310 4,310 1,000
ONEFS (H)els =& 1,000 0 1,000
00t=ZIS RIS =2 550,000 550 0 550
=22 & S 450,000 450 0 450
LHASTHHAKIR 15,000 15,000 0
== 0 1,650 21,650
o 15,000 13,350 1,650
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2AM:
X{XH -
o /e

cH):

S XX
e =X 38
e LALIETRA

SN B SL(3) - MRAY - BES Ofl el ol & o {TmE=T}
307 eI2+o| & 15,000 15,000 0
== 0 1,650 A1,650
= 15,000 13,350 1,650
11 MI=EXAIEES 15,000 15,000 0
OLLESF2UHEHAL XA 15,000,000 15,000 15,000 0
& 0 1,650 A1,650
o 15,000 13,350 1,650
IIE2sHe 28 X3 704,880 704,680 200
| 277,440 277,340 100
& 83,232 83,202 30
o 344,208 344,138 70
307 SI2t01 & 704,880 704,680 200
| 277,440 277,340 100
== 83,232 83,202 30
= 344,208 344,138 70
10 AISISXAEYERSHIEER 704,880 704,680 200
OJI=EdH 28 K& 554,880,000 554,830 554,680 200
| 277,440 277,340 100
== 83,232 83,202 30
= 194,208 194,138 70
SIERIIE XX (= AHA) 24,300 21,690 2,610
& 7,290 6,507 783
= 17,010 15,183 1,827
301 LEBAZ 24,300 21,690 2,610
& 7,290 6,507 783
= 17,010 15,183 1,827
02 ANSIBE 4GS (FAAHS, KILTHE) 24,300 21,690 2,610
O =H| 19,640,000 19,640 17,130 2,510
& 5,892 5,139 753
= 13,748 11,991 1,757
O Zzeld 100,000& #2921 200 100 100
== 60 30 30
o 140 70 70
HAUEEIRE Ots2ds 2 NUEXA 1,800 150 1,650
| 1,440 120 1,320
== 108 9 99
o 252 21 231
301 LBEAEZ 1,800 150 1,650
| 1,440 120 1,320
== 108 9 99
o 252 21 231
01 Al BEE2HS(2 D2 1,800 150 1,650
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2A: SXXA2 0
23 od =X 588

&2l AL AZUIIERIRA (crol: 221
SA - BB SR(E) - HRAY - BES Ofl Aot )3 o GImE=ST;
OFHAHESIRED OlsY¥=® L
1,800,000 1,800 150 1,650
J| 1,440 120 1,320
== 108 9 99
i 252 21 231
Ol0I=E0| Bx+u=sH| K& 0 4,107 A4, 107
== 0 1,232 A1,232
o 0 2,875 A2,875
307 212t01 & 0 4,107 A4 107
< 0 1,232 N1,232
i 0 2,875 A2,875
11 AMSISXAMSEEE 0 4,107 A4, 107
OO0t0IE 20| E+u=H| o 0 4,107 A4, 107
< 0 1,232 N1,232
i 0 2,875 A2,875
OIS MEIA 2e1RE3 =Dt 20,000 0 20,000
== 6,000 0 6,000
i 14,000 0 14,000
307 212t01& 20,000 0 20,000
== 6,000 0 6,000
i 14,000 0 14,000
11 ARISXIAMEEE 20,000 0 20,000
Ootol=sMEIA =12
20,000,000 20,000 0 20,000
< 6,000 0 6,000
i 14,000 0 14,000
CHRSPIEXIA 262,208 260,768 1,440
J| 92,124 92,124 0
< 46,414 48,682 N2,268
i 123,670 119,962 3,708
HZ=0120% AR AE 0 7,560 AT,560
< 0 2,268 N2,268
i 0 5,292 N5, 292
201 et | 0 7,560 AT,560
== 0 2,268 A2,268
i 0 5,292 N5, 292
01 At22teld| 0 7,560 AT,560
OWAEZ=0I20K ANC! ZPAL=
0& 0 7,560 AT,560
< 0 2,268 N2,268
i 0 5,292 ANB,292
22004 22 SF eHRA 2 XIF 9,000 0 9,000
307 212t01™ 9,000 0 9,000
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2A:
X{XH -
o /e

cH):

SXIXIE
o4 =X =
28X

SA - FHH . O(32) - HRAY - BES Ofl o )3 o iImE=ST
11 AISIS XA E S 9,000 0 9,000
OZE20I04 28 9 A 29 X
& 9,000,000 9,000 0 9,000
205 X2 4,772,215 4,785,360 A13,145
= 2,299,130 2,326,475 A27,345
< 1,365,874 1,373,258 NT,384
i 1,107,211 1,085,627 21,584
2RI Y 4,772,215 4,785,360 A13,145
= 2,299,130 2,326,475 N27,345
= 1,365,874 1,373,258 A7,384
i 1,107,211 1,085,627 21,584
SRR HHE K& 141,878 196,567 AB4,689
= 70,938 98,283 N27,345
= 35,470 49,142 A13,672
i 35,470 49,142 A13,672
301 EtEdEZ 141,878 196,567 AB4,689
= 70,938 98,283 A27,345
= 35,470 49,142 A13,672
i 35,470 49,142 A13,672
01 MBIBEE G2 (2 NEXTHR) 141,878 196,567 AB4,689
& WAFKI2H| 81,108,0002 81,108 111,108 A30,000
= 40,554 55,554 A15,000
< 20,277 27,777 27,500
i 20,277 27,777 A7,500
OHE NS MEWAL 9,503,000 9,503 12,924 A3,421
= 4,751 6,462 A1, 71
< 2,376 3,231 855
i 2,376 3,231 AB55
O=sEsg822E 51,267,0002 51,267 72,535 21,268
= 25,633 36,267 10,634
< 12,817 18,134 25,317
i 12,817 18,134 Ab,317
SBRINA HRHE NJA(Z) 38,185 32,380 5,805
= 7,637 6,476 1,161
o 30,548 25,904 4,644
301 et Z 38,185 32,380 5,805
= 7,637 6,476 1,161
o 30,548 25,904 4,644
02 MBIBEE G Z2(FILAHS, XLHA) 38,185 32,380 5,805
OEsnd AR
100,000 *68021%23| 13,600 7,795 5,805
< 2,720 1,559 1,161
i 10,880 6,236 4,644
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S XKD
M BRIE X

Siol: BRHAXN (Sho): 7))
2A - HH . H(SH) - MRAIY - BES Of] &K J &3 o Hws2
ool otdEsz XA 1,437 2,112 2675

== 719 1,056 A337
i 718 1,056 A338
201 LBt AY| 1,437 2,112 2675
(o= 719 1,056 N337
i 718 1,056 A338
02 2=23| 1,437 2,112 NB75
O0gloly etdEsz I
1,437,000 1,437 2,112 AN675
(o= 719 1,056 N337
i 718 1,056 A338
Oelold 2&8l X 41,377 23,563 17,814
== 12,413 7,069 5,344
i 28,964 16,494 12,470
307 eI2+o| & 41,377 23,563 17,814
== 12,413 7,069 5,344
o 28,964 16,494 12,470
11 AIBISTIAMEER 41,377 23,563 17,814
O0glole 22ZHl K&
41,377,000 41,377 23,563 17,814
(o= 12,413 7,069 5,344
o 28,964 16,494 12,470
=0l R0 2R2ESE X Al 600 0 600
== 120 0 120
i 480 0 480
301 YPHENS 600 0 600
== 120 0 120
i 480 0 480
02 MBIBEEGZ2(FILHS, XLWA) 600 0 600
2|=0 |0t FRES= 600,000 600 0 600
(o= 120 0 120
i 480 0 480
FoF 238 0l ExuAA 212H XA 18,000 0 18,000
307 212t01™ 18,000 0 18,000
10 AIBIS XA EEHE2IHIEE 18,000 0 18,000
OF < =38 el EsuWERA 2124d|
1,500,000 *2I4 2 +6 18,000 0 18,000
Ots 344 248 84 3,951,718 3,944,302 7,416
= 815,362 1,003,015 A277,653
s 439,253 180,096 259, 157
J| 324,908 324,068 840
(o= 504,595 508,789 N4, 194
A 1,867,600 1,838,334 29,266
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C=XXAD
L OS HAW AW |4
L OlS=XEE

SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o GImE=ST;
Ots=XIEd 2,780,850 2,799,326 A18,476
= 786,666 1,064,319 A277,653
= 439,253 180,096 259, 157
J| 51,286 50,446 840
== 439,611 443,805 24,194
o 1,064,034 1,060,660 3,374
Ots=X 28 XA 32,530 23,730 8,800
201 LE23H| 20,530 11,730 8,800
01 At22teld| 20,530 11,730 8,800
OOts®I#E2s 3&8aaY
100,000 x22021x43| 8,800 0 8,800
NE0tsdH2IG AR 82,048 78,048 4,000
= 0 39,024 A39,024
= 41,024 0 41,024
< 16,410 15,610 800
i 24,614 23,414 1,200
307 212t01™ 82,048 78,048 4,000
= 0 39,024 A39,024
= 41,024 0 41,024
== 16,410 15,610 800
o 24,614 23,414 1,200
10 ALSIZ XA EEHE2IHIE X 82,048 78,048 4,000
OXS0otsHEH J|1229|
82,048,000& 82,048 78,048 4,000
= 0 39,024 A39,024
= 41,024 0 41,024
< 16,410 15,610 800
i 24,614 23,414 1,200
KS0otsHy elAd| XI& 335, 160 335,160 0
= 0 167,580 A167,580
s 167,580 0 167,580
== 67,032 67,032 0
o 100,548 100,548 0
307 212t01& 335, 160 335, 160 0
= 0 167,580 167,580
= 167,580 0 167,580
< 67,032 67,032 0
i 100,548 100,548 0
10 AFRISXAEEHE2AHIEX 335,160 335, 160 0
OX<E0otsHIy 1|
33,516,0002%109! 335,160 335,160 0
= 0 167,580 A167,580
sy 167,580 0 167,580
== 67,032 67,032 0
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2AM:
X{XH -
o /e

cH):

S XX

Ols=EXSA

SA - FHH . O(32) - HRAY - BES Ofl o )3 o iImE=ST
| i 100,548 100,548 0
XH0otsHy SZHs K& 10,000 10,000 0
= 0 5,000 25,000
= 5,000 0 5,000
== 2,000 2,000 0
i 3,000 3,000 0
307 212t01& 10,000 10,000 0
= 0 5,000 A5,000
s 5,000 0 5,000
== 2,000 2,000 0
i 3,000 3,000 0
10 ALSIS XA EHE2IHIE X 10,000 10,000 0
OX<GotsHEH 23He X2
10,000,0002 10,000 10,000 0
= 0 5,000 25,000
= 5,000 0 5,000
< 2,000 2,000 0
i 3,000 3,000 0
OtS=SXIWAF IHA 110,574 110,574 0
= 0 45,553 45,553
fas 45,553 0 45,553
< 18,221 18,221 0
i 46,800 46,800 0
101 @I244| 100,888 100,888 0
= 0 45,553 A45,553
= 45,553 0 45,553
< 18,221 18,221 0
i 37,114 37,114 0
03 SRA(RINHL) 22X E S 38,59 38,59 0
OX S A2 S XIAF C124H| 38,59 38,59 0
(== 2,541, 1103 +1C1x 122 30,49 30,494 0
= 0 14,407 14,407
s 14,407 0 14,407
< 5,763 5,763 0
i 10,324 10,324 0
04 DIt HIREXNSES 62,292 62,292 0
OO0ts= X WAL 2124H| 62,292 62,292 0
0N JIE=2 1,260,000 301x 122 45,360 45,360 0
= 0 22,680 A22,680
s 22,680 0 22,680
== 9,072 9,072 0
i 13,608 13,608 0
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2AM:
T ZH -
o /e

cH):

S XX

Ols=EXSA

2A - HH . H(SH) - MRAIY - BES Ol ArH J &3 o Hws2
SRR EEEEEESEE
244, 0002 %301+ 122 8,784 8,784 0
= 0 4,392 A4,392
s 4,392 0 4,392
& 1,757 1,757 0
= 2,635 2,635 0
0N JIE=2 658,000 %1 Q1% 122 7,8% 7,89 0
= 0 3,948 A3,948
fas 3,948 0 3,948
= 1,579 1,579 0
o 2,369 2,369 0
OCHU Al 4U0IBEZ 21,0002%101x122 252 252 0
= 0 126 A126
s 126 0 126
& 50 50 0
= 76 76 0
FHAHE Ol=S AL XA 270,085 267,920 2,165
s 180,096 180,096 0
& 11,256 11,256 0
o 78,733 76,568 2,165
201 etz 3F| 23,300 26,300 A3,000
= 18,680 21,080 22,400
[ 1,165 1,315 A150
= 3,455 3,905 A450
01 AtR22lt| 16,840 19,840 A3,000
OSAD| etz o 0 3,000 A3,000
= 0 2,400 22,400
[ 0 150 A150
o 0 450 2450
304 AZRY3S 21,989 19,824 2,165
04 SR (RINHL) 22X BEHSRE=2 S 21,989 19,824 2,165
O323 gadz
39, 155,00024%301%1/12 9,789 7,624 2,165
405 XHoHESHI 3,000 0 3,000
s 2,400 0 2,400
& 150 0 150
= 450 0 450
01 At 2FFSHI 3,000 0 3,000
OSZAEE 2428 Z2FH 7Y
1,500, 00024+2CH 3,000 0 3,000
s 2,400 0 2,400
& 150 0 150
= 450 0 450
Ots==ZRI& 902,700 935,460 A32,760
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fA: SXX2 1L
3 Ol Ay Ad 54

&elr Ol sSXSH CEEEN
S - B CLI(3H) - HRAY - BAS ol ol 3 o DS
= 631,890 654,822 A22,932
(o= 81,243 84,191 A2,948
o 189,567 196,447 6,830
301 LPEES 902,700 935,460 A32,760
= 631,890 654,822 N22,932
== 81,243 84,191 A2,948
o 189,567 196,447 6,830
01 MBIBEE G2 (ZNEXTHR) 902,700 935,460 A32,760
OOtz XI& 902,700,000 902,700 935,460 232,760
= 631,890 654,822 N22,932
== 81,243 84,191 A2,948
T 189,567 196,447 26,880
JHERE0ls 28 XA 44,200 37,000 7,200
301 LPEESF 44,200 37,000 7,200
02 MBI EEE2ES(FHLHS, KNEWHA) 44,200 37,000 7,200
OJt82E0ts RIA 40,200,000 40,200 36,000 4,200
O0rSES7HI(Ler, ®2)
1,000,000 %401 4,000 1,000 3,000
IHEES0ts 24Hl X& 3,990 3,600 390
== 1,197 1,080 17
i 2,793 2,520 273
301 EtEdEZ 3,990 3,600 390
(o= 1,197 1,080 17
o 2,793 2,520 273
02 ASIEEEES(FHLHS, NEWHA) 3,990 3,600 390
OB S0ts 24| 3,990,000 3,990 3,600 390
(o= 1,197 1,080 17
o 2,793 2,520 273
IIEES0ts M=l X2 (=Hl) 1,800 2,000 A200
== 540 600 260
i 1,260 1,400 A140
301 LBEAEZ 1,800 2,000 A200
== 540 600 260
i 1,260 1,400 A140
02 MBIBEEGZ2(FILAHS, XLHA) 1,800 2,000 A200
OIEES0ts M==t| XI&
100,000 *9 K| CH*23] 1,800 2,000 A200
== 540 600 B0
o 1,260 1,400 A140
LES0ts 121 1R 2DIAME 0 600 AB00
== 0 180 A180
o 0 420 A420
301 et Z 0 600 AB600

- 287 -




2AM:
X{XH -
o /e

cH):

S XX

SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o GImE=ST;
= 0 180 A180
i 0 420 2420
02 MBIBEEGZ2(FILAHS, XLHA) 0 600 2600
2350ts 121X (A o 0 600 2600
== 0 180 A180
i 0 420 2420
RES0ts FFEFAHl X 0 3,600 23,600
< 0 1,080 21,080
i 0 2,520 A2,520
301 Let2d= 0 3,600 23,600
< 0 1,080 21,080
i 0 2,520 22,520
02 ASIEEEES(FHLHS, NEMA) 0 3,600 23,600
ORESOts SFEAMHl K&
0& 0 3,600 A3,600
== 0 1,080 A1,080
i 0 2,520 22,520
2SEZ0ts WEMEtE s X3 0 6,000 26,000
< 0 1,800 21,800
i 0 4,200 4,200
301 LEt2d= 0 6,000 26,000
< 0 1,800 21,800
i 0 4,200 4,200
02 MBI 2 E X262 (F 2 INEDGED 0 6,000 26,000
OESE=0t=s HedEotE = X3
o 0 6,000 26,000
== 0 1,800 A1,800
i 0 4,200 24,200
RES0ts XA 0 1,900 A1,900
301 et Z 0 1,900 A1,900
11 SARHIXIR S 0 1,900 21,900
ORESOs & = A
ol 0 300 2300
OREsSlts nsEA o 0 1,600 21,600
UAOISIHEX 2 (LRTH) 18,000 16,800 1,200
J| 12,600 11,760 840
o 5,400 5,040 360
301 et Z 18,000 16,800 1,200
J| 12,600 11,760 840
i 5,400 5,040 360
01 ASIEEE2HS(2DEZME) 18,000 16,800 1,200
Ogots Lds2 X2
18,000,0002 18,000 16,800 1,200
J| 12,600 11,760 840
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2AM:
T ZH -
o /e

cH):

S XX

2A - HH . H(SH) - MRAIY - BES Ol ArH J &3 o Hws2
| o 5,400 5,040 360
OrsdEols #8435 XA 6,900 11,300 24,400
301 LPEESF 2,400 6,800 24,400
11 SALAHIXIRAZ 2,400 6,800 24,400
O0tsAdgosl & o 0 4,400 24,400
B2 JIdgE T2 )™ 7,108 2,276 4,832
= 3,554 1,138 2,416
(o= 711 228 483
o 2,843 910 1,933
307 I2+0I& 7,108 2,276 4,832
= 3,554 1,138 2,416
(o= 711 228 483
o 2,843 910 1,933
10 AIBIS XA EHE2EHIB X 7,108 2,276 4,832
OY=d JH¥ssZ=2™
7,108,000 7,108 2,276 4,832
= 3,554 1,138 2,416
(o= 711 228 483
o 2,843 910 1,933
OlSESdESI|2 29| X (Z)(=IrelAt]) 8,793 6,396 2,397
(o= 1,758 1,279 479
i 7,035 5,117 1,918
307 EI2+0I& 8,793 6,396 2,397
== 1,758 1,279 479
i 7,035 5,117 1,918
10 ALSIZ XA EHE2IHIE X 8,793 6,396 2,397
O0sEsdEI & 29| X
8,793,000& 8,793 6,396 2,397
(o= 1,758 1,279 479
o 7,035 5,117 1,918
OISESHERR Al 46,618 46,618 0
= 30, 100 30,080 20
== 1,875 1,880 N5
o 14,643 14,658 A15
101 QI AH| 36,803 36,803 0
= 24,575 24,555 20
== 1,531 1,536 A5
o 10,697 10,712 A15
02 JIEtA B2 36,803 36,803 0
OOtsESdERR 22| 36,803 36,803 0
02JIHl 92 JI=3 25,831,0002 25,831 25,831 0
= 20,686 20,666 20
== 1,289 1,294 A5
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2AM:
T ZH -
o /e

cH):

S XX

Ols=EXSA

2A - B E9(SH) - HRAIY - BES 0] b0t o & e HIn=2
| | o 3,856 3,871 A15
HAaE 51 & BS 556,192 544,770 11,422
= 14,096 14,096 0
J| 173,401 173,401 0
== 24,688 24,688 0
o 344,007 332,585 11,422
HEAUMEEAHEHZ Y 129,720 125,918 3,802
== 9,000 9,000 0
o 120,720 116,918 3,802
101 Q1 AH| 84,182 83,702 480
03 SR (RIHY) 22 RE= 84,182 83,702 480
OF=ENSPS==INRl = el kal]l 84,182 83,702 480
((pJE=N= 40,0002%201% 122! 960 480 480
202 o4t 5,520 3,600 1,920
01 =LY 5,520 3,600 1,920
OS2R& ZF0I 180,000 *201% 122 4,320 2,400 1,920
304 HASRE3S 13,918 12,516 1,402
04 SR (RINHL) 22X BEHSRE=2 S 13,918 12,516 1,402
O3=R% g&e3
37,548,0002%221x1/12 6,258 4,856 1,402
HAUSHH Z208 29 63,947 60,227 3,720
| 22,860 22,860 0
== 11,430 11,430 0
o 29,657 25,937 3,720
202 Oidl 2,740 2,620 120
| 1,555 1,555 0
== 778 778 0
= 407 287 120
01 2ol 2,740 2,620 120
O322 AlelIXI&bl
195,000& 10112 2,340 2,220 120
J| 1,380 1,380 0
== 690 690 0
o 270 150 120
304 HASRE3S 10,379 6,779 3,600
04 SR (RINHL) 22X BEHS2E=2 S 10,379 6,779 3,600
OZ22 EHoZz 77,868,0002%1/12 6,489 2,889 3,600
KA HAEHOMNMGE A= 142,113 138,213 3,900
| 52,811 52,811 0
o 89,302 85,402 3,900
304 ASRE3S 18,813 14,913 3,900
04 SRA(IHS) 22X BE28E2 S 18,813 14,913 3,900
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2A:

S XX

0l HAE 2HE 84
Helr 34l =X 2 25 (Crel: Xl
2A - HH . H(SH) - MRAIY - BES Ol ArH J &3 o Hws2
O=2A gAdAz3
58,230,00094%201%1/12 9,705 5,805 3,900
Fags 2 T 614,676 600,206 14,470
= 14,600 14,600 0
7 100,221 100,221 0
& 40,296 40,296 0
o 459,559 445,089 14,470
MY ZAadsd2 29 269,844 255,374 14,470
201 L2 3| 112,822 105,212 7,610
01 At=22t2ld| 20,996 20,746 250
Ol YA A S
200,000 %53| 1,000 750 250
02 2=222H| 49,430 49,230 200
O3 HEa 550, 000R1*23] 1,100 900 200
03 A2 FH| 42,39%6 35,236 7,160
OFLHEHR S0t 8K
7,160,000 7,160 0 7,160
301 LEEBHZ 5,548 4,288 1,260
11 HARHIXIRZ 5,548 4,288 1,260
OFAUELHA S02| Z208 2o
2,00084%7021%93] 1,260 0 1,260
304 AZRY3S 18,612 13,012 5,600
04 SR (RINHL) 22X BEHSRE=2 S 18,612 13,012 5,600
OS2 gAdz
63,378,000 *221%1/12 10,563 4,963 5,600
HRES(SXIXA2) 3,189,524 1,080,488 2,109,036
SRSONES 3,189,524 1,080,488 2,109,036
2x3 tta2 3,189,524 1,080,488 2,109,036
802 eret=aJIEt 3,189,524 1,080,488 2,109,036
01 =2082X30e2 1,884,534 546,572 1,337,962
02022 HOHCIAHFAIE SIIHED| X
2 ZIEHAon 4,8002 5 0 5
02022 EOHCIHFAIE 2GR TEHEH(
OIXIEE) 98,599, 3802 98,600 0 98,600
O2022F ZOHRIAFAIE FUE ESHRIHK(
Ol KtIL &) 18,905,210 18,906 0 18,906
020223 AHHIE S XA ZSHEH(O| X}
S 20,080,060 20,081 0 20,081
02022 ERTWAL UM AF Q1248 XIZALS
TISHAIOH(O| RHILEY) 43,062,6002 43,063 0 43,063
O2022d ERnEE B40SH| XA &
SHRFOH(O| KHEEF 36,430 37 0 37
02022 O{el0|& SEXIA Al ESEeH (0|
K& 3,166,220 3,167 0 3,167
O2022d ESUAAHRQIMEXN ALY SR
H(OIXIEE) 473,0802 474 0 474
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2A:
X ZH
S

SX X
XH—‘?—%’%(EXIN%EH
I=rSPNES

A - HH . H2(3H) - HRAK = Of] &K J &3 o Hws2
020224 BEAR QIAHY| XIAAIY EHE
oH( 0| RHES) 133,930 134 134
02022 SLILIHES 2 Arg EEEoH(
OIXIZE) 138,240 139 139
02022 =5F0tLt=E 2% O RH A oH
5,1502 6 6
0202235 OIO|SSKIAAIY TS EH(O|RE
S 764,730 765 765
02020 =32HE2 J22|2E A &3
ZHOH (O XFEE) 2,116,380 2,117 2,117
0202235 HOot=S XIRAIY EEHEH (O] X}
IS 25,616,9602 25,617 25,617
020224 S AR0IEEZ XA ZEHRHOH(
OIRHE &) 639,060 640 640
O2022E = eIt BR2 ESHXH(O|AHE
&) 199,062, 4802 199,063 199,063
020223 & IIE YR+ XIRAIY EEHEH(
OIXIEE) 5,988,710& 5,989 5,989
02022 J|Z=AHZ X A g Erol
126,650,940 126,651 126,651
020225 FOfIH2 ZEHAroH
43,051,400 43,052 43,052
02022 HOoH==S (D=, XHAR]) TEHERH
8,848,000 8,848 8,848
020225 LolIUESSMUIAAY EEHRHOH(
OIXFLE) 22 269,5402 22,270 22,270
020223 EHL0l SSHHL SSoHEer
NHEIA At ESHTH(O|KHZE)
16,853,290 16,854 16,854
02022 ICTSHH B sSE=SAY
ok (0| XY 3,405,6102 13,406 13,406
O2022F Z2L HLEH] L 22| XIRAY
TISHEHOH(O| K} E) 8,515,940& 8,516 8,516
020223 colgdXie]l & Atslgs XA &
SHERFOH( Q| XHZEY) 20,721,4202! 20,722 20,722
02020 =OIQAAISE EES AL ESHEH
530,328, 190 530,329 530,329
020223 D2ZLHI9 AFX X HeAlXIJ At H
oK (0| X&) 267,960 268 268
02022 OS5 X2 Al TSHEOH(O|XIE
=) 3,883,710 3.884 3,884
02022 OtSZLEXIRIAHIE XIHAIY ESHE
H(OIXIESE) 14,739,860 14,740 14,740
02022 OSSR WA IHAXI ALY &S
OH(O|XtIZE!) 8,485,960 8,486 8,486
Q20223 FHUHS OtsSEMUIA XIRAA
TIGHEHOH( Q| K} EY) 12,384,860 12,385 12,385
02022 XI0tsSHlE 29| XA &
ZHOH(O|XFEE) 12,450 13 13
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2A:
X{XH -
o /e

cH):

S XX
SES(SXXAD)
RSN

2A - HH . H(SH) - MRAIY - BES Of] &K J &3 o Hws2
02022 ZOHIL X2l (MDA, AIRMH, =X, 2
ST RLYESAIEE) HSXH(0INIZE)
38,819,350 38,820 0 38,820
020224 OtsZA(HE, UEHE) X2AY &
SHRFOH( O] KHELEH) 19,250,460 19,251 0 19,251
O2022F HAESNSOPHHIOl XA &
SHEIOH(O|RIELE) 10,238, 160 10,239 0 10,239
O022d BSEZ0HS g EAH(0|
XHZ &) 311,7002 312 0 312
O2022 2 20ts JFEXIAAE (D12) TER
o 560,000 560 0 560
02022 OtSESHSQA Al EHEH(0
A=l 6,008, 1402 6,009 0 6,009
020223 OFSEH ZAF =32 = &Yl &t
A A EEH (O] KHELE)
504,890 505 0 505
o022 HAEHNSE0IY EUEH(0IXIZE
&) 725,340 726 0 726
O2022F HAESOI2IESKIA AIY &S
H(O|XtZE) ,054,710 3,055 0 3,055
O2022 9 HAEXISAL BIXIKIZ At ESH&
OH(O|XtIZE!) 791,490 7% 0 792
02022 HAEHAMSSI|ME (MY, SHHAL)
TSRO (O KL ) 3,880, 1802 3,881 0 3,831
02022 StHEAETIAAML (SAXE X
&) TEoH (O KtEE 1,797,620 1,798 0 1,798
020223 +=Ald HAEH2HLIAS 2Y X
PIAY EEHXHOH(O|XIIZEY) 10,5403 11 0 ik
020223 (HEEAHE M2|EE KNJAY &
U (O XFEE) 2,775,860 2,776 0 2,776
02 Al - EHIEZZEteS 1,304,990 533,916 771,074
O2021F HOHQISX2t BA =5 ZH&H
90,000& %0 0 0
020225 J|Z=HS K& At &l
2 814,490 2,815 0 2,815
02022 ICTSHH CIBRsSE==SAIY &
Z4OH (O KHELEL) 526,560 527 0 527
020225 =OIUEESAUIAAY ESHEHOH(
O KtXL &) 2,863,210 2,864 0 2,864
O2022 LoI=SXIAIE KI& At EEEH(0]
L&) 48,406,3602 48,407 0 48,407
02020 LOIQUAL EHE ALY HSHXHH
530,328, 190 530,329 0 530,329
2022 ZOHRQIH O ZSXID|=XIIMIE KA
O BTN (0|XIEE) 208,500 209 0 209
020223 HOHRIHFAIE SIIEH)| dEX
2 "z 24,0002 24 0 24
02022 ZOHRIHFAIE YIS T EHRFoH(
O KtXLEY) 12,989,830 12,990 0 12,990

- 298 -




2A:
X{XH -
o /e

cH):

S XX
SES(SXXAD)
RSN

2A - HH . H(SH) - MRAIY - BES Ol Aot Bl =yt [ ImES=l;

02022 ZOHUHFAIE FUSE TSHR(
OIXFLE) 2,435,120 2,436 2,436
02022 ZOHIRATHEAIL 2LXI2 01K
Aol 702 1 1
020228 HOHQIHZ=AIE KT OF24g &
SHRFOH( Q| KHEL &) 878,290 879 879
020224 ZOHQIHZAIE BAKKE £ ZaHE
OH( Q| KFZE) 8,223,920 8,224 8,224
020222 AIZHIES XIRAFRS ESHEH(O| X}
&) 10,040,030 10,041 10,041
020228 JIEHMEf BAK SC EISHEOH(O| K}
&) 510,870 511 ST
020224 1010+ ALBIEZH L SA KA
Of Kt 240l 1802 1 1
O20224 CH2EPIE =X & HHAFY
HHTU(OI L E) 7,598, 7702 7,5% 7,59
020223 BETWAL THHI DAL Q1AH] XIR A
ZISH AL (0| RFEEY) 21,531,2002! 21,532 21,532
O2022d BSDXNA B21SH| A &
SHRFOH (O] RHL & 18,2202 19 19
020224 0f2I01E SAXIY ALY ZBHArH (0]
XHEE) 1,583,6102 1,584 1,584
O2022d B2 MM X Al X
ZoH (0| Kt &) 236,550 237 237
O2022d BSWES Q1A XAt ASHE
OH(OIXFELE) 66,9602 67 67
O2022d R22LIHZE 2 A EIsiRoH(
OIRtZE) 69,1202 70 70
O20228 & KHHl SSAMY ZSHRHOH(O| XHE
) 6,701,970 6,702 6,702
02022 2RE0{2I01E 2QH| XA &
SR (0| XL E) 16,557,800 16,558 16,558
02022 ZRE0{2I0|1E ESZEH| XA
of ZBoH(0IXHEE) 1,387,420 1,388 1,368
O2022d BESOILHSE 29 AFY OfRpeAY
o 1,54084 2 2
O20224 % OOISERIAIY TS XHOH(O| Xt
oE) 98,320 9 9
O2020d RRA=Z J2I2IRL2AIY &3
ZoH (0| Kt &) 272,610 273 273
O2022 T A0S XIRIAFRS EISHEIOH( 0| X}
&) 6,896,870 6,897 6,897
O022HE AROIEF2 KIYAIY ZeiRro(
OIXEE) 172,060 173 173
O20224FE I EAFAE KA TS TO(
O KtXL &) 1,612,350 1,613 1,613
02022 EOHQIDIEXIRIMIE OfKpetayoH

4,940¢ 5 5
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2A:
X ZH
S

SXIX& 1

XH—‘?—%’%(EIIII%EH

I=rSPNES

2A - 3 - H(SH) - MRAY - BAS O AtH J| & o Hns2
020224 EOHOIMICH ArIZ2IXIR ArR! &3
Zhok 6,207,890 6,208 6,208
020228 ZOHOI LU XIRAFY ZIBH XK
95,6302 % %
020228 EOHQIHZ ZIBHRHOH
5,535, 1802 5,536 5,536
020221 ZHOHQI A XI2| KR (E XA ) Zi3H
oK (0| TR 72,7302 173 173
02022 ZHOHOISXT|D| L HolAH| X2 Ab
& ZEHEIH(O|KIZE) 530, 1902 531 531
02022 SH| 0§ ZBHXIH(O|XHEE)
454,920 455 455
02022 HoHx=E (D=, XIAIR]) &IsRroH
2,654,600 2,655 2,655
02022 SHEQl SZSH0HQ SSOHH QA
MHIA AP ZIBHEFOH(O| XHE L)
8,426,640 8,427 8,427
02022 [oTHILAl AXIH| O KHeAdoH
25,860 26 26
Q20225 METHO| HISAY &g &HoH
1,265,820 1,266 1,266
020221 HZ2g WHLtE] 2 k24| XA
ZIGH XU (O RFELEL) 2,554,780 2,555 2,555
Q022 A2Y 2%H| S XA EIsHEIoH
(OIKt=E) 1,529,130 1,530 1,530
020228 LQIDFRAICH HHEH| S=OHKIR AL
O] KHgrAsoH 12,9502 13 13
020221 =QI= X220 & XHHIALY &IBHRHOH(
Ol Xtz &) 130,990 131 131
02022 =oIARt2| 2 ABIESE KIRAIY &
SHRFOH (0| KFELEY) 6,215,830 6,216 6,216
020228 =OIURI2] & KHMIAKZS Of KheAHoH
7,270 8 8
02022 OlS4g XIZAIY ZBAH(O|XHE
&) 499,320 500 500
020221 OlS LRI HIE KA ZEHE
OH(O|RHEE) 3,160,450 3,161 3,161
020228 OlS=RIWAF IHAXIRIALS ZBHEH
OH(O|XtIZE!) 3,392,400 3,393 3,393
02022 FHUHE OFSEFAMHIA KA
TN (0| XHEE) 773,780 774 G
02022 XIH0tSHIE 22H| XA X3
ZHoH 4,980 5 5
02022 ZHOHOIL XTI (ML HI, AIZEH, S, &
SHIIQUTSAIEE) HHTH(0INEE)
11,645,380 11,646 11,646
02022 OIS ZAI(BIE ER) XA &
SHERFOH( Q| XHEEY) 18,734,960 18,735 18,735
02022 BSHAIOIS RHRIXIS AMS! ZISHEH
o (0| Kt &t 42,0002 42 42




A SXX2 20
: XH—‘?—%’%(EXIII%EH
el 28NS

2A - HH . H(SH) - MRAIY - BES Of] &K J &3 o Hws2
O2022d BSER0ts K24 MEH(0]
T g 23,4002 24 24
020229 BSEZ0ls sty &
SHERFOH( Q| XHZEY) 2,404,000 2,404 2,404
O2022d BESEZ0ts NEEEZ TETH(
0IKIZ &) 805, 0002 805 805
020224 OlSESHE QP AIY ZEHEH (0]
KL E) 375,5002 376 376
02022 HAEZ S OHHI0l XIZAK &
SHERFOH( Q| XHZEY) 3,071,450 3,072 3,072
02022 HAEHNWZSE01Y T EH (0| Kt
&) 1,088,020& 1,089 1,089
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